
EE 201 —  HW 6.3                  Name__________________________________________

The two switches the circuit 
shown have been closed for a 
long time.  At t = 0, the both 
open simultaneously. 
 
 

a) What is vc(t) for t > 0? 
 
b) How long does it take for 75% of the energy that was initially stored in the capacitor to dissipate? 
 
 
vc(t) = ________________________________________________________ 
 
 
t0.75 = ______________________________________ 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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